6-6 Trapezoids and Kites

For trapezoid QRTU, V and S are midpoints of

the legs.

16. If QR =12 and UT =22, find V'S.

SOLUTION:
By the Trapezoid Midsegment Theorem, the
midsegment of a trapezoid is parallel to each base

and its measure is one half the sum of the lengths of

the bases.
OR and UT are the bases and FS is the
midsegment. So,

ps o QR+UT
.y
VS = 12+ 22
2
=17
ANSWER:
17

18. If ¥S=9 and UT = 12, find OR.

SOLUTION:
By the Trapezoid Midsegment Theorem, the
midsegment of a trapezoid is parallel to each base

and its measure is one half the sum of the lengths of

the bases.
OR and UT are the bases and F'S is the
midsegment. So,
_QR+UT
-
9 OR+12
2
IR=0R+12
6=0R

s

ANSWER:
6
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24,

25.

SENSE-MAKING If WXYZ is a Kkite, find each
measure.

YZ
w
z X
Y
SOLUTION:

By the Pythagorean Theorem,

Xy? =82 +5%=89

XY =+/89

A kite is a quadrilateral with exactly two pairs of
consecutive congruent sides. So, XY = ZV.
Therefore, ¥YZ = XY = 8T}

ANSWER:

v"ﬁ

wpP

Z

SOLUTION:
By the Pythagorean Theorem,

WP = WX? - XP? = 6>~ 42 =20
WP =20

ANSWER:

v"E

Page 1



6-6 Trapezoids and Kites

42.

ALGEBRA For trapezoid QRST, M and P are
midpoints of the legs.

Q R
F M

T S
If TS = 2x, PM =20, and QR = 6x, find x.

SOLUTION:

By the Trapezoid Midsegment Theorem, the
midsegment of a trapezoid is parallel to each base
and its measure is one half the sum of the lengths of
the bases.

OR and TS are the bases and PM is the

midsegment. So,

PAS = Qh‘;?ﬁ‘_

br+2x

20=

Solve for x.
40=8x

JEX

ANSWER:
5
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44.1f TS=2x+2, OR = 5x + 3, and PM = 13, find TS,

SOLUTION:

By the Trapezoid Midsegment Theorem, the
midsegment of a trapezoid is parallel to each base
and its measure is one half the sum of the lengths of
the bases.

OR and TS are the bases and PM is the
midsegment. So,

Sx+3+2x+2
- p
Solve for x.
2o=Tx+3
21="Tx
i=x
Substitute.
7§=23)+2=8

ANSWER:
8
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